Geometry 4.1-4.5 Review Name: }<{7\\yt

1. Classify each triangle by side length and angle measure.
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2. The measure of one of the acute angles in a right triangle is 63°. What is the measure of the other acute
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3. Find the m AUT. 4. Find the value of m. V.
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5. AHOT = ADOG. Identify each congruent corresponding part.
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Match each pair of triangles with the postulate that makes the triangles congruent. Complete the
congruence statement.
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Complete a two-column proof for the following. D
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11.  Given: BC =DC, AB || ED = . . —
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